COP 3223 Section 2 Exam #1

Form A

Fall 2005

9/20/05

Lecturer: Arup Guha

Directions: Answer all multiple choice questions on the scantron. Each question has a single correct answer. In case of ambiguities, choose the most accurate answer. Each of these questions is worth 3 points for a correct answer. Incorrect answers and questions left blank are worth 0 points. Hand in ONLY the scantron, keep the test questions, and take the free response form that corresponds to this form.

1) What will the following line of code print out?

printf("3+4 = %d\n", 3+4);

A)3+4 = %d

B)3+4 = 7\n

C)3+4 = 7

D)3+4 = 3+4

E)None of the Above

2) What is the value of the following arithmetic expression?

3*(4+5) - 7*2 + 10/2

A)3

B)8

C)13

D)18

E)None of the Above

3) What is the value of the following arithmetic expression?

(3 + 6*4)/5

A)4

B)5

C)5.6

D)7

E)None of the Above

4) What is the value of the following arithmetic expression?

(3 + 2*4)%5

A)0

B)2

C)3

D)4

E)None of the Above

5) Which of the following is most likely to cause a run-time error? 

A)pow(sqrt(1), 2)

B)sqrt(pow(2, -1))

C)pow(sqrt(2), -1)

D)sqrt(pow(-1, 3))

E)None of the Above

6) Which of the following evaluates to a random integer in between -17

and 13, inclusive?

A)rand()%13

B)rand()%17

C)-17+rand()%30

D)-17+rand()%31

E)None of the Above

7) What is the output of the following segment of code?

int x=3, y=6;

if (x > y)

  printf("One");

  printf("Two");

if (x == y)

  printf("Three");

else if (x < y)

  printf("Four");

else

  printf("Five");

A)One

B)Two

C)TwoThree

D)Four

E)None of the Above

8) What is the output of the following segment of code?

int x=3, y=6;

if (x > y)

  printf("One");

else if (x = y)

  printf("Two");

else if (x < y)

  printf("Three");

else

  printf("Four");

A)One

B)Two

C)Three

D)ThreeFour

E)None of the Above

9) What is the output of the following code segment?

int month=5, day=16;

if (month > 5)

if (day > 1)

  printf("One");

else

  printf("Two");

printf("Three");

A)Two

B)Three

C)OneThree

D)TwoThree

E)None of the Above

10) What is the output of the following code segment?

int grade=76;

if (grade > 89)

  printf("A");

if (grade > 59)

  printf("D");

if (grade > 79)

  printf("B");

if (grade > 69)

  printf("C");

else

  printf("F");

A)C

B)D

C)CD

D)DC

E)None of the Above

11) Which of the following could potentially cause a run-time error, assuming that each variable used below is already declared as an integer?

A)x+y

B)x-y

C)x*y

D)x+=y

E)None of the Above

12) The Martian Olympics typically occur every fourth year. It started in the year 2 and continued in that fashion, except every 16 years, they skipped the event. Thus, the Martian Olympics were held on the years 2, 6 and 10, but skipped on the year 14, then continued in the years 18, 22 and 26, but then skipped again on the year 30, etc. Assume that year is an integer variable that stores some positive integer. Which of the following  expressions evaluates to true if and only if the variable year stores a value of a year in which the Martian Olympics is held?

A)year%4 == 2

B)year%4 == 2 || year%16 == 14

C)year%4 == 2 && year%16 != 14

D)year%4 != 2 || year%16 == 14

E)None of the Above

13) What is the output of the following segment of code? 

int a, b=1, c=0;

for (a=0; a<8; a++) {

  c = c + b;

  b = b + a;

}

printf("b=%d,c=%d\n",b,c);

A)b=22,c=42

B)b=16,c=26

C)b=8,c=36

D)b=7,c=28

E)None of the Above

14) What is the output of the following segment of code?

int i, sum=0;

for (i=0; i<10; i++);

  sum = sum+i;

printf("i=%d,sum=%d\n",i,sum);

A)i=9,sum=9

B)i=9,sum=45

C)i=10,sum=10

D)i=10,sum=55

E)None of the Above

15) What is the output of the following segment of code?

int n=100, cnt=0;

while (n > 0) {

  cnt++;

  n = n/2;

}

printf("n=%d,cnt=%d\n",n,cnt);

A)n=0,cnt=6

B)n=0,cnt=7

C)n=0,cnt=50

D)n=1,cnt=7

E)None of the Above

16) Which of the following is true of the do-while statement?

A)When executed, its loop body always gets executed at least once.

B)When executed, its loop body always gets executed at least twice.

C)There is no semicolon in its construct.

D)Its loop body must be enclosed inside curly braces({}).

E)None of the Above

17) What is the output of the following code segment?

int i,j, cnt=0;

for (i=0; i<5; i++)

  for (j=i+1; j<5; j++)

    cnt = cnt + j;

printf("cnt=%d\n", cnt);

A)cnt=10

B)cnt=15

C)cnt=20

D)cnt=30

E)None of the Above

18) To what value does the following expression evaluate?

((-1 < 0) < 1)

A)-1

B)0

C)1

D)2

E)None of the Above

19) Which of the following is true of the switch statement?

A)It is a loop.

B)The controlling expression in the parentheses must be of type int.

C)A range of values can be specified without listing each value in one case.

D)It must contain a continue statement.

E)None of the Above

20) By what acronym is the company International Business Machines better known?

A) ABC

B) 123

C) IBM

D) MIB

E) None of the Above
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1) (6 pts) Complete the program below that asks the user to enter a temperature in Celsius, converts it to Fahrenheit, and prints that value out to two decimal places. (Hint: C = 5(F - 32)/9, where F is the corresponding temperature in Fahrenheit and C is a temperature in Celsius.)

int main(void) {

  double fahr, cel;

  printf("Enter a temperature in Celsius.\n");

  scanf("%lf", &cel);

  return 0;

}

2) (14 pts) Complete the program below that asks the user for the number of cents they want to get in change (guaranteed to be in between 1 and 99, inclusive), and outputs exactly how many quarters, dimes, nickels and pennies they will be given so that they are given the minimal number of coins possible.

int main(void) {

  int quarters, dimes, nickels, pennies, totalcents;

  printf("How many cents do you want in change?\n");

  scanf("%d", &totalcents);

  printf("Quarters=%d, Dimes=%d, ", quarters, dimes);

  printf("Nickels=%d, Pennies=%d\n", nickels, pennies);

  return 0;

}

3) (20 pts) Complete the program below so that it implements a guessing game. The game works as follows: First, a (secret) random number in between 1 and 100, inclusive, is generated. Next, the user is prompted to enter a guess as to what the secret number is. If the guess is too high, an appropriate message asking for a lower guess should be printed. If the guess is too low, a corresponding message asking for a higher guess should be printed. In both of these cases, the user should enter another number. The game continues in this fashion until the user guesses the correct number. At this point in time, the game ends, and the program prints out a message stating the number of guesses it took the user to pick the secret number.

int main(void) {

  int secretNum, guess, numguesses=0;

  secretNum = rand()%100 + 1; // Creates secret number.

  return 0;

}
